G OBI Intelligent Designs 2000 Corp.

RACKS Denver, Colorado 80211

wuw. GOBIRACKS.com
GEHUINE ACCESSORIES

GOBI 07 JEEP GRAND CHEROKEE FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

Cuidelines:

When using Load Carriers and Accessories, the user must understand the precautions. The points listed helow
will agsist wou i using the rack foarrier system and will encourage safety.

# For quality fits and safty, use only the recommended rack or accessory. Do not assume an accessory will fit,
always check with dealer when obtaining new accessories. Use only approved accessories on load catriers.
Uzing other brands will woid your watrenty.

¢ Mlake sure all knobs, bolts, screws, straps, and locks are firmdy attached, tishtened and locked before every trip.
Enobz, bolts, screws, straps, and locks must be pertodically inspected for signs of weat, corrosion, and fatigue.
Check your load at stops during the trip to insure continued fasterming securty.

# Checklocal and state laws governing projection of objects beyound the width of a vehicle. Be aware of the
widih and height of your cargo since low clearance branches, bridges, and parking garages can affect the load
A1l cargo will affect the welicle's ditving behavior. Hever dive with any lock, know, or rack in an open ot
unlocked posttion.  Alllong loads such as, but not linated to sallboards, suthoards, kayaks, canoes, and
lumber rnast be Hed down front and rear to the bumpers or tow hooks, of the welicle.

# Bemove yout rack accessories when they are not in use, before inteting car washes, prior to talang in your
vehicle for service, and whenever clearance may be an 1ssue.

¢ Alllocks must be turned and moved periodically to insure smmooth operation. Use graphite or simnilar diy
labricant to help this. Locks are designed to deter vandalism and theft. Eemowve valuable gear if wouwr
vehicle is unattended for an extended period. Place at least onie key in the glove compartment.

# For safety to your wehicle and rack system, obey all posted speed limmits and traffic cautions. Adapt your
speed to the conditions of the road and the load being carned.

* Do not use load carniers and accessones for purposes other than those for whach they were designed. Do not
exceed their carrying capacity.

« Consult with your dealer if you have any questions regarding the operations and hrats of this product.
Eeview all mnstnactions carefially.

Installation Instructions for GOBI 07 GRAND CHEROKEE RACK parr 0. GO7IGCR, SHEET ] OF §




GOBI

RALKS

GENUINE ACCESSORIES

IntelliFent Designe 2000 Coxp.
Denver, Colorado 80211
wuw. GOBIRACKS.com

INSTALLATION INSTRUCTIONS

GOBI 07 JEEP GRAND CHEROKEE FULL SIZF ROOF RACK

Included m kat
Letter Description Location Quantity
A OBl JEEP GERAND CHEROKEE ROOF BACEK Main box 1
B FAIRINGRUBBERE FROTECTIVE STRIF pre-asseribled 1
C FAIRIMG handed to rack 1
I FAIRING BRACKETS (pre-asseribled to fairing) pre-assernbled 3
FAIRING BREACKEET HARDWW ARD
CONTENTS: 5-1/4-20x1 black mnc button holt
BAG #2
E 6- 1/4" black washer P 1
3-1/4" lock washer
3- 1420 wing ot
F GOBI SUPPORT BEACKETS FRONT Hardwrare Box 2
Fa 3Bl SUPPORT BEACEETS REAR Hardwrare Box 2
OBl ROOF MOUNT BEACEET HARDWARE
CONTENTS:  8-1/4" Nylon spacer washers
: &- WG x 35 man Mounting screws BAC #3 1
G a- 1" Stainless water tight washer Hardwrare Box
1- M- 4Tl etric allen wretich
1- T-27 Totx wrench
OBl EACK BRACEET HARDWARE
CONTENTS: 8- 3/&8"- 16 x1" Staitless hex bolt

H 16- 308" Stainless washer BAG #4 1

2- 3M8" Btainless lock washer Haryrase Hox

232" Btanlesz fiut

4 Rubber pads black

BAG#2

BAG#3 BAG#H4

Installation Instructions for GORI 07 CRAND CHEROKEE RACK

prrrwo. GO7JGER

SHEET 2 OF S




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBI 07 JEEP GRAND CHEROKEE FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

The rach pust be ingpected before each ise fo malte corfan affaclmerts are secire, and for avidence of
e, Isuse of the rackor falire fo cbserve the mappfachorar s insirucfions as fo sfallafion proper
Affaclmnedtt and mayterrare will void a1y werraties fhvd may be implied by law

Installation Insthnict ons:

1 Using the hardware list onpage 2 of the Gold instnactions maraal check and werify that all har dweare 15 present
priot to installation.

2- Hefer topage 4 Fig 5 If your wehicle should have a plastic molding strip “ A" on the wehicle roof top as shown
leawe i1 place and remove only the OEL screw s #14 both ends driver and passenger sides using the T-27 Tarx
wrench located in Bag #3 . If your welucle has an OEL roof rack retnove completely at this time uang the T-27
T orx wretich located in Bag #3 of your har dwr are kit

3- Refertopaged Fig 4 andFig 5 if your wehicle retains the molding strip “A™ as shown place tiylon spacer s #9a
located in Bag #3 of your hardw are kit into the molding recess holes both ends deiver and passenger sides. Then
place support trackets “Fa™ and “F7 over top of the iyl on spacers using the M6 x 32mm mounting screw s, water
proof washer s and M- 4 Allen wrench located in Bag #3 of yow har dware kit to secure in place. Support brackets
“Fa" attach to the rear mounting holes o the velucle roof top and support brackets “F7 attach tothe front
mourting holes of the vehicle rooftop. Do not fdlytighten down at this ime.  If your welicle should have an
DEM roof rack remove completely at this time then place brackets “F a” and “F7 directly owver the wehicle roof top
mourting holes as described above fnoldmg sfrip A" @d spacer 's #9a are nof needed)

4 Eefer to page 4 Fig 4 after all support brackets “Fa” and “F” have been installed place Gok roof rack #11 ontop
of all four support brackets as shown in Fig 6 page 5. Eefer back to page 4 Fig. 4 place black rubber pad #10
between roof rack and support brackets then install 3/27 bolts, washers, lock washers snd maslocated in Bag# 4
of your hardwrare kat in place as shown.,  Continue the same procedure to all support brackets to secure roof rack
towehicle roof topp. Finger tighten only at this time.

5- Refer topage 4 Fig 4 while Lifting shightly on the roof rack fully tighten all eight #9 M6 x 33mm screw s using the
LI-4 Allety wrench supplied in your har derare kit Bag #3. Once all fowr support brackets are Puly tightened o
the wehicle roof top fully tighten all eight 3727 bolts, washers, lock washer s and mats of the roof rack to the
suppott brackets,

f- Hefer to Fig 6 page 5 #2 farring, the farring comes pre-assem bled with farring brackets #4 attached. The position
of each attached fairing bracket maynot be fixed at the proper height for vouwr particular roofline. Adustments
may have to be made in order for the faring to form correctly to your veluce’s roof line. Begin by attacking the
fairing’s center bracket to the middle slot #5a of the G obi roof rack light bar #5 shown on page 5 Fig. 6 use the
¥ bolts, washers and mats supplied i bag #2. Prowde approximately a 27 gap betw een the fairing and the G obi
rack outer tube as shown onpage 5 Fig. 7a, tighten down the center ot and bolt at thistime. Proceed to either
the right or left hand side and poll the fairing in the direction of the arrows onpage 5 Fig 7 letters “F7 and “G7
while pushing down on the faring towards the roof top at the same time.  Pull each side until the fainng either
makes contact with the Gobi roof rack or com es in dose proximity. Align Panngbrackets #4 to the Gold light
bat fairing slots at the ends of the G ol light bar #5 and insert the 147 bolt and washer thr ough the faring bracket
&4 then throughthe Gobi gkt bar dlot and secure the fanng in place with the 37 washer and ot Proceed to
the opposite side and cordtinue attaching the faring i the same manner. Be sure that the faring throngh oat 1t
length iz in contact with the roof top as shug as posaible, fairing brackets may need to be adusted either up or
down andin some cases you may bend the faring bracket to accomm odate the final result. Onee the fannz iz in
the proper posttion tighten all farmg bracket screw s firmly, Foofrack mstallation is complete.

Installation Instructions for GOBIO7 GRAND CHEROKEE RACK rerryo. GOTIGCR SHEET 3§ oOF S




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBI 07 JEEP GRAND CHEROKEE FULL SIZF ROOF RACK
INSTALLATION INSTRUCTIONS

Installation Instructions for GOBIO7 GRAND CHEROKEE RACK rerryo. GOTIGCR SHEET 4 oF S




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBI 07 JEEP GRAND CHEROKEE FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

[ A
ol -l-"_-":l.-
S

S5a

Gobi Rack
outer tuhe

Installation Instructions for GOBI 07 GRAND CHEROKEE RACK parr 0. GO7IGCR, SHEET § oOF &




	Gobi Jeep Grand Cherokee 07 roof rack install page 1
	Gobi Jeep Grand Cherokee 07 roof rack install page 2
	Gobi Jeep Grand Cherokee 07 roof rack install page 3
	Gobi Jeep Grand Cherokee 07 roof rack install page 4
	Gobi Jeep Grand Cherokee 07 roof rack install page 5

